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The reason is because of working the vineyard, etc.

Overview

The X3 challenged %27 (who maintains that it is 71707 MoXR [even if the P is not
present now]) from a 7wn later which states that one may not plant a tree within four
nmR of his neighbor’s field, and the Xn™72 explained the reason for distancing four NR
1s because of 07577 n2v. The X3 infers from this that it is only because of 0727 T2V
that it is necessary to distance; otherwise it would not be necessary, which is in
opposition to X171 who maintains %07 TOX. Our Mo0IN questions the need for this
inference.

= NN YAIN NPHINA DT MUY 79912 81 NPT INN INDA
The X712 could have asked simply, without this inference, the 71wn states that

distancing four n»X is sufficient -
- AR 179 PINTNY TPIY 79N “]INTDY NON IN)

But if, as X2 rules that it is forbidden 7129%, he would need to distance from his
neighbor’s field twenty-five NN -

= 9921 11 )9IRN NN PPININVY (3,05 91 NPY N1
As the mwn taught later, that we distance the tree from the 913 twenty - five ninx;

the reason the 813 did not ask in this manner-
SN0 9NN MNN YAIN TIN IDANRT P91 19D NN NON

For he rather preferred to infer from the Xn>72 that one may be 920 even
within four nR, not only within twenty five nmx.

Summary
From the miwn we can derive that one can be 7m0 a tree within twenty-five mnK;

from the ?1°7 of the Xn>72 we can infer that one may be 7210 even within N1X 7.

Thinking it over
If we were to prove from the 7awn that it is 7107 Imn within MNR 73" (as MOOIN

suggested) we would be faced with the question why do we need to be pr7n even
nmR "7, therefore it was necessary to cite the Xn>72 in order to explain why even
though it is 707 2w within MR 7", nevertheless it is 71102 MoK within NAX '7,

! According to X271 one may not plant a tree in his property within twenty-five nmx of the property line, for perhaps
his neighbor will decide to dig a M2 there (and the roots of his tree will damage the 712).
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because of 072377 hTaY.
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